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Word Problem

A printer can print 14 birthday cards on a

1) 4913+ 100= 4
2) 10x8xd= sheet of card. The printer needs to print
3) 46x29 the following: 28 packs of 4 cards
4) 100x__=45 18 packs of 10 cards
5) 167+3=
How many sheets of cards will be needed
to print these cards?
Explai Challenge
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1) 4913+100= 5013
2) 10x8x4=320
3) 46x29= 1334
4) 100%0.45= 45
5) 167:3=55r2

Word Problem

A printer can print 14 birthday cards on a
sheet of card. The prinfer needs fo print
the following:

28 packs of 4 cards 8 sheets
18 packs of 10 cards 13 sheets

How many sheets of cards wil be nesded
to print fhese cards? 21 sheets

Explai

1 am thinking of @ whole number. My
number can be rounded o 370 What
could my number be? Explain why.
a5

366

367

38

a3

370

a7

a2

a73

a74
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